4/6/2009
Dynamic Telescope Auto Balance Procedure

The objective is to have the telescope currents equally balanced about 0 amps.
1. Stow Platform.
2. Enable Telescope.

3. Check if Ok to open Mirror Covers.
4. Check instruments if ok to go to -30 dec. and -3hr ha.
5. Begin Auto Balance Procedure with Gui.

6. Move telescope to Zenith.

7. Open Mirror Covers. Turn on mirror support.
8. Move tlsp South at 15as/s for 5 sec. and store current difference and sign while moving.
9. Move tlsp North at 15as/s for 10 sec. and store current difference and sign while moving.
10. Subtract the difference and divide by 2.
11. Move tlsp South at 15as/s and move N/S high speed horizontal tube cwt to add or subtract result at step 10 from present current difference.  If high speed cwt reaches limit then move low speed cwt.

12. Repeat 7-11 for E/W.
13. Return to Zenith.

14. Move and read N/S/E/W current difference again to see if within tolerance.

15. Move tlsp to -30 dec. & 0 ha.

16. Move tlsp North at 15 as/s for 5 sec. and store current difference and sign while moving.
17. Move tlsp South at 15as/s for 5 sec. and store current difference and sign while moving.
18. Subtract the difference and divide by 2.

19. Move tlsp North at 15as/s and move both N/S high speed vertical cwt’s to add or subtract result at step 18 from present current difference.  If high speed cwt reaches limit then move low speed cwt.

20. Read N/S current difference again to see if within tolerance.

21. Move tlsp to 0 dec. 0 ha.

22. Move tlsp East at 15 as/s for 5 sec. and store current difference and sign while moving

23. Move tlsp West at 15as/s for 5 sec. and store current difference and sign while moving.

24. Subtract the difference and divide by 2.

25. Move tlsp East at 15as/s and move both Yoke high speed horizontal cwt to add or subtract result at step 24 from present current difference.  If high speed cwt reaches limit then move low speed cwt.
26. Read E/W current difference again to see if within tolerance.

27. Move tlsp to 0 dec -3hr ha.

28. Move tlsp East at 15 as/s for 5 sec. and store current difference and sign while moving

29. Move tlsp West at 15as/s for 5 sec. and  store current difference and sign while moving.

30. Subtract the difference and divide by 2.

31. Move tlsp East at 15as/s and move both Yoke vertical cwts to add or subtract result at step 30 from present current difference. 

32. Read E/W current difference again to see if within tolerance.

33. The telescope is now balanced.

34. Move tlsp to Zenith.
35. Close mirror covers and turn off mirror support.

36. Save cwt configuration with user label.

